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es-independent(es; i; k; x)
≡def ∀s1,s2:es state(es; i).

es-x-equiv(es; i; x; s1; s2)
⇒ ((∀v:es-kindtype(es; i; k).

es-x-equiv(es; i; x; (es-trans(es; i)(k,v,s1)); (es-trans(es; i)(k,v,s2)))
∧ (es-send(es; i)(k,v,es-read-state(s1)) = es-send(es; i)(k,v,es-read-state(s2))))
∧ ((↑islocal(k))
⇒ (∀n:N.

es-choose(es; i)(act(k),n,es-read-state(s1))
=
es-choose(es; i)(act(k),n,es-read-state(s2)))))

clarification:

es-independent(es; i; k; x)
≡def ∀s1:es state(es; i), s2:es state(es; i).

es-x-equiv(es; i; x; s1; s2)
⇒ ((∀v:es-kindtype(es; i; k).

es-x-equiv(es; i; x; (es-trans(es; i)(k,v,s1)); (es-trans(es; i)(k,v,s2)))
∧ (es-send(es; i)(k,v,es-read-state(s1))

=
es-send(es; i)(k,v,es-read-state(s2))
∈ (es-Msg(es) List)))

∧ ((↑islocal(k))
⇒ (∀n:N.

es-choose(es; i)(act(k),n,es-read-state(s1))
=
es-choose(es; i)(act(k),n,es-read-state(s2))
∈ (es-kindtype(es; i; k) + Unit))))
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